17. As shown below, the diagonals of rectangle MNOP

intersect at 1lhe p(!)pinl (5,—1) in the stand&;d (}.:c,):) 49. What is the area of quadrilateral WXYZ if it has
coordinate plane. Point M is at (—1,—4). Which of i n - v) ¢ i 4), Y(4.1),
the following are the coordinates for point O? ;ig'cze(slv;';?h (x,) coordinates W(Z,i), Xl (Si) Y(4.1)
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o ) . 57. Jordan has been hired to build a circular wading pool

S1. IE the ('I‘ ’ygl C"’.ord':’lf‘"e plane, :v‘lt'nit’is/;ge(\rdd.lg)s gg in his neighbor’s backyard. The rectangular backyard
L 3%?;(2 ot?;lrcliigameie?‘?omls ( Qn_/- - measures 40 feet wide by 70 feet long. Jordan’s
endpoi .

neiﬁhbors want the pool to be as large as possible,
A. V7T "~ with the edge of the pool at least 4 feet from the edge

of the backyard all around. How long should the
B. 2v/2 2 radius of the pool be, in feet?
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